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Q.1 fF=fafae g J fora ereg o1 vihT S @:
IToTer # & o 2 g €

Ans X A TSR A
X B.&#g
o C.3@ia
75 D. SR

Question ID : 630680184735
Status : Answered
Chosen Option: C

Q.2 =, fagiyor 3k HEA @ I+ aTeft uTg it R FEd & ?
Ans ¢ A =TT arg foRar

25 B. Th foma

2< C. IRumefens femam

#< D. 3w fera

Question ID : 630680179363
Status : Answered
Chosen Option : A




Q.3 F=fefEa e o1 wrer 9 9aET:
# oY GaIg T 14T R IR g

Ans X A, qdehTet
#< B. dIchIfeidh aAMehTel
o C. quf adAmaa
< D. yfasgehTer

Question ID : 630680184746
Status : Answered
Chosen Option : A

Q.4 ol a9 30 e & grT s w=a= & gid fifsg:
WARI____ uFAIa 8l

Ans X A amsffarg
o B. amefiafe
25 C. anfafe
2< D. srfafe

Question ID : 630680184713
Status : Answered
Chosen Option : B

Q.5 F=fafRa d @ &= a1 2w 7 w1 vafer e 78 87
Ans X A 93

25 B. @l

o C. 3

< D. yafest

Question ID : 630680184700
Status : Answered
Chosen Option: B

Q.6 <6 == $i gfd IR 21z gRT sl
‘grafir AFH H_____ g o e A

Ans X A ga=
X B.&g
X C.om
" D. 8RR

Question ID : 630680184732
Status : Answered
Chosen Option: D




Q.7 area & =k = & forg Sugeh faerea gaa arera gof a3
AT AEa g RFseR Mara | &r?

Ans X A =
o B. 9oE
X C. 3o
2 D. g¥faar

Question ID : 630680177076
Status : Answered
Chosen Option: C

Q.8 fF=fafae aaa # SfRa sreoa a1 wain &R arer # R =i 6 gfd &
gw fagar ot meht @1

Ans X A gof
< B9y
o C.gde
X D9

Question ID : 630680184752
Status : Answered
Chosen Option: C

Q.9 f=fafad ara d il a1 FRE &:
‘feuTera udla @ i Aepedt 81

Ans X A. ahaf
X B.OwER
< C. oo

& D. UG

Question ID : 630680184756
Status : Answered
Chosen Option: C

Q.10 F=fafad are &1 e 9 Ta=T:
ITA 31U UTeTe <t bl AIRT AT

Ans X A dfery yqdea
" B. I0f yfaret
X C. 3rqof sdepret
< D. G g

Question ID : 630680184749
Status : Answered
Chosen Option: B




Q.11 fF=fafEs wiwis @ uga R == & gff SR e grr fifsa:

Sftor ofiz Aeht A e 1
Ans X A el
< B. ST
X C.gfaa
o D.5g

Question ID : 630680184719
Status : Answered
Chosen Option: D

Q.12 fF=fafad g 7 R == 6 gfd, 35 s gri fifsia:
“HiRrard g g _____ ofir

Ans X A et
< B. &Rt
< C. szt
o D. Shafdat

Question ID : 630680184706
Status : Answered
Chosen Option : B

Q.13 R~h = Y ofd, R4 ez g1 fifSigl
2MooreRT e fehedt oft worer A & T §

Ans X A gH&dl
< B. T=dl
25 C. Ul
«* D. s

Question ID : 630680184729
Status : Answered
Chosen Option: D

Q.14 arera & R w= & g Iugeh feea geens ara gof
a1 Y 15 arE &t TR 1 fRarg g gRfga e man &

Ans X A Er
X B.fama
o C. STt
< D. 3mTd

Question ID : 630680177100
Status : Answered
Chosen Option : A




Q.15 fF=fafea aoa d for 1 o1 uah sigs &
UUTHH=, ST & fgdens hearur & fog orf &R @ &1

Ans X A SHal
X B. oI @
25 C. shedror
o D. fgaa

Question ID : 630680184736
Status : Answered
Chosen Option: D

Q.16 Fr=fafEa arera & fhe 21 o wahT s &
s1gT-Afh A ofifes ey st 81

Ans X A srgrafe
< B. 3T
o C. 7
< D. i

Question ID : 630680184737
Status : Answered
Chosen Option : D

Q.17 R~h = Y ofd, 34 ez g1 fifSigl
“_____ A o Yeh SgaR 79 g9 | 7EE el 17

Ans X A. 3fRa dremg
25 B. @i g\mSt
< C. sffea g
" D. 37 fRigm

Question ID : 630680184726
Status : Answered
Chosen Option: D

Q.18 f=faf@s wieiis &t uga Reh == &t gff R e g fifsg:

SlAsmAE___ g dd o famri
Ans o A HIS
2 B. &M
X c.am
2< D. Shifaa

Question ID : 630680184720
Status : Answered
Chosen Option : A




Ans

Q.19 R~s =i ) gfef 3R 2rez g1 fifSg)
Soyde RamamR arnfetes & e a2 @ 98 germa 2

o AT
& B. ¥
X C.9318

X D.wfs

Question ID : 630680184731
Status : Answered
Chosen Option : A

Ans

Q.20 fF=afafea o @ e ares @1 sl a1 g 98t 78 87

o A TReTe-frcef
X B.ur-ay

#< C. g3yl
7< D. uTHiuT-AR

Question ID : 630680184703
Status : Answered
Chosen Option : A

Q.21

Ans

Comprehension:

9 Ry M a1 At U SR g M wet IR

AT g Y @It SA1fE et § e ¥@T & SR 32 Y mifty 3Tk Sfiaw o1 e Sea w1 81 g @ § a8

ST TSRIT & foh 59 Sfla A g1 T, 37T aret Sfiae # U} eaae e a1 & foh aai +ft ga@ a1 suaiT
& Gh| ST IR i, el SR Fafaior g9 3t siteniar Y TeTS & | g & oifte 3 forg € g4 Sitee
o TR 3R TOR ol T hgenx 3707 | ohl d et hl AT il &1 I Sfia H his IR &1 781 3R
TR 1 8, af fOh ot 7 398 Hg Aigahe 98 ? cifch &7 o1 g1 81 &, 98 i — o1 A-1gi<I ¢ Sit g8

@ & 3R o STl &, 99 OR 6 foaR a1 fomam 21

SubQuestion No : 21
‘ST’ fhg TRR T A= & ?
o A SRt

< B. BrREr
X C. gt
2< D. gdeft

Question ID : 630680179368
Status : Answered
Chosen Option: B




Comprehension:

A g 2 e Rl U SR U T met o IR

AT @ i @I TS et & Y @7 & 3R 3} Y Iftd ITch St 1 &7 3829 WM 81 @ I a8
ST TRTAT ¢ foh 39 St H 81 78], 31 aTel Sita # T} a1 SheT a1gat ¢ foh a8t +ff g & suai
R Goh | STad 7R T, Hter ofik Tafmior va It armenter &t o] &1 g 6 wiftd & forg €t gam Sfte
ot AR 3R TR ol 31 Thgehs 3794 H o id & bl AT hl §1 5T Sita A ahis IR & Tl 3R
TR 1 8, aF fOR ot 1 3998 Hg gt 98 ? cifch 87 ol gl 81 &, 98 o — W g g s gdl
@ & SR A ST 8, 39 R gh faar 78 iR &1

SubQuestion No : 22
Q.22 IURITH SERUT T ARILA AT
Ans X A Sfiaa & g@ wihrens srtelt didl & forg oft a9 om - dufy, SHiF - STRGIG 999 SeT 9rgdT &
3R 3¢ & g AT 81
75 B. A < Ui ¢ foh TR aRad12iie 81 39 Sreumd} Sfte # g — 21ifd Uift & g chaet
frerergf et faramt &1
o C. SfiaT &1 ggilfohen SR URelThen I8 & — Y@ I It | % U X 3@ o forg ag @, wer
ST T Bl

#< D. 7= I Sfie g:@yquf 81 37d: I8 G ¥ TeRIh Y@ ! UTTtd oh felYgeR — SR HehdT & IR
ST H I o el fHerdr, 7 o R

Question ID : 630680179369
Status : Answered
Chosen Option: C

Comprehension:

< foQ T ey Rt U ofR UB T U & IR &

IS G@ Y @IST 3Tfe et & TR 36T 6 3R T Y oifed I8k Sfia 1 9 3220 @M 81 5@ 4 a8
ST TSI & foh 59 Sfia | g1 761, 37T aret Sfiae # U} ea e argdn & foh aai ot ga@ a1 suah
R Goh | STAd 3R T, Hter ofR Fafmior Ta It arepier 6t ww=d &1 g & wiftd & forg &t g7 e
Sl R SR YR ot SIfe hgehe 37U F ahi AT e hl IBT T &1 T Sila | dig IR & el 3
TOR S &, at iR ot 7 399 Hg T 33 2 Afh &1 ol ¢t 8 €, 98 a9 - D w=ig & st el
@ Y 3R A STt 8, 39 WR gh faar =8t forar &1
SubQuestion No : 23

Q.23 39 3HgaRYT & forg 3R ofide gfawl

Ans X A A7 SR Sfiae

< B. Sfte o7 Agd

o C. 7 R g - g
25 D. siffy 99

Question ID : 630680179370
Status : Answered
Chosen Option : A




Q.24

Ans

Comprehension:

A g 2 ey Rl U SR 4B T met o IR &

AT @ ol @Il TS et & X @7 & 3R 3T Y Iftd ITch St 1 &7 384 W 81 @ T a8
ST TRTAT ¢ foh 39 St | 81 78], 31 aTel Sitae # T} a1 SheT a1gat ¢ o a8t +ff g a1 3uai
R Toh | STAd 3R T, Ater ofk Tafmior ga It armenter &t o] &1 g 6 wiftd & forg €t gam Sfte
ot AR 3R TR ol 31T Thgehs 3799 H o Rid & i AT hl §1 5T Sitad H ahis IR &t Tl 3R
TR 1 8, aF fOR ot 1 3998 Hg Aigae 98 ? cifch 87 oIl gl 81 &, 98 o — W aigia g s gl
@ Y SR A ST 8, 3T R gFA faar 8 iR &1

SubQuestion No : 24
Sfte et e AR §H T AT ATEd & ?
X A St ot Geagia Ae g9 g T 8 A6 8l
25 B. 3@ &l S A & U gH 4g A8 od &1
& C. STa ol Jegi ATens §H STO 1+ ehi R1Td T dT8d 6|
25 D. Sfia= ot Feugi AT 87 g@ 4T &heT a18d &

Question ID : 630680179367
Status : Answered
Chosen Option: C

Comprehension:

A g T e Y U SR US T s & IWR &

AT G@ hHY @ISt SA1fE et § e 38T 8 SR ST Y Tifd 3Tk Sfia o1 9 Sea w1 81 5@ 9 a8
ST TRTAT ¢ foh 39 Sfa | g1 78], 31 dTel Siae # QHY a1 SheT 918l 6 foh gl +ff g&@ a1 Suai
R G | ST 3R e, Ater ok Fafmfor e 3t sirerien A TR €1 g i wifey & Y € g s
! AR 3R TR ! AT shgehs 31U H ol Td &het hl AT Y 81 5T Sitad A ahls IR & A1 3fik
TR A 8, aF fOh Rt 1 599 15 AlSahe 98 ? cifch gF oIl gl 81 &, 98 ohid — ©1 A-1gi<I ¢ ST gd
3@ Y SR A STt 8, S UR gHA IR A8l fhar g1

SubQuestion No : 25

Q.25 A & SHa= ohl J=T e T & ?

Ans

25 A, o1 uRem & g & IR o Uga &l T |
25 B. Sfias ot IuiT e T Ig=A|

” C. @ & @I ik Tt

2< D. 3@ § geRTe @ o folg =T

Question ID : 630680179366
Status : Answered
Chosen Option: C

Section : English Language

Q.1

Ans

Select the option that can be used as a one-word substitute for the given group of words.
A strong compulsion to steal

< A. Megalomania
+" B. Kleptomania
#5 C. Stealomania
#< D. Bibliomania

Question ID : 630680179478
Status : Not Answered
Chosen Option : --




Q.2 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.
Criticism is an indispensable part of our lives.

Ans X A adamant
#< B. urgent
#< C.unnecessary

" D. No substitution required

Question ID : 630680184799
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required'.
To Gandhiji separate electorates were disgust because they promoted communalism and
division.
Ans X A. no substitution required
75 B. antipathy

< C. aversion
«# D. anathema

Question ID : 630680184802
Status : Not Answered
Chosen Option : --

Q.4 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order
to form a meaningful sentence.
A.in the ruin of the towns and cities
B.for their manufacture
C.the ruin of Indian handicrafts was reflected
D.which were famous

Ans X A.BCDA
7 B. ADCB
2 C.CBDA
« D. CADB

Question ID : 630680184786
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate ANTONYM of the given word.
Prudence

Ans  # A Recklessness
#< B. Dishonesty
#< C. Snootiness
5 D. Wisdom

Question ID : 630680179443
Status : Not Answered
Chosen Option : --




Q.6 Select the most appropriate meaning of the given idiom.
Jump on the bandwagon

Ans X A. Play all musical instruments well
#< B. Be active and alert always
< C. Ask anyone for a favour

«" D. Mechanically join a new trend or fashion

Question ID : 630680184771
Status : Not Answered
Chosen Option : --

Q.7 Select the most appropriate option to fill in the blank.
He has Saturdays off once month.

Ans X A an
75 B.the

« C.a
< D. no word

Question ID : 630680184830
Status : Not Answered
Chosen Option : --

Q.8 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order
to form a meaningful sentence.
A.my most interesting visitor comes at night,
B.when the lights are still burning
C.a tiny bat who prefers to fly in through the open door and
D.will use the window only if there is no alternative

Ans X A ACDB
2 B.CBDA
« C. ABCD
7< D.DCAB

Question ID : 630680184790
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate option to fill in the blank.
The butterfly in through the open window and is sitting on the flowers in the vase.

Ans o A flew

< B.fly
< C. has flew

25 D. flying

Question ID : 630680184833
Status : Not Answered
Chosen Option : --




Q.10 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order
to form a meaningful sentence.
A.to replace workers
B.employers are keen
C.with machines despite
D.the abundance of labour force

Ans X A BDCA
& B.BACD
2< C.DCBA
7< D.ADBC

Question ID : 630680184791
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate option to fill in the blanks.
How many guests you to today’s party?

Ans X A. are, invited
#< B. had, invited

«# C.did, invite
< D. have, invite

Question ID : 630680184838
Status : Not Answered
Chosen Option : --

Q.12 Parts of the following sentence have been given as options. Select the option that contains
a spelling error. If there is no error, select ‘No error’.
Emigrashion is one of the forces behind the march of mankind, which is fortunate to have
people who act as cultural bridges.

Ans X A.to have people who act as cultural bridges
#< B. the march of mankind which is fortunate
< C. No error

«" D. Emigrashion is one of the forces behind

Question ID : 630680184782
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required'.
Only when merit is recognised at all levels without any biases can India hope to become a
global power.

Ans X A.likings

25 B. fancies
25 C. conclusions

" D. no substitution required

Question ID : 630680184811
Status : Not Answered
Chosen Option : --




Q.14 Select the most appropriate synonym of the given word.
Garrulous

Ans

o A. Talkative
< B. Genuine
< C. Reserved
< D. Guarded

Question ID : 630680184766
Status : Not Answered
Chosen Option : --

Q.15

Ans

Select the most appropriate option to fill in the blank.
Kavita is staying back at

KA a
#5< B.one
« C.the
< D.an

same hospital where her mother is admitted.

Question ID : 630680184827
Status : Not Answered
Chosen Option : --

Q.16 Select the correct spelling of the word underlined in the given sentence.

Ans

They think that they have provyded against everything.
25 A. Provydid

< B. Providid
4" C. Provided
75 D. Proovyded

Question ID : 630680177343
Status : Not Answered
Chosen Option : --

Q.17

Ans

Select the most appropriate option to fill in the blank.
We have worked for six days now; it has been an extremely

25 A. exhaustive
4" B. exhausting
25 C. exhaust

#< D. exhausted

week for me.

Question ID : 630680184818
Status : Not Answered
Chosen Option : --




Q.18 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.
The capitalist system of society does not disturb healthy relations among human beings.

Ans X A. dissuade

< B. adopt
«” C. foster

Z5 D. no substitution required

Question ID : 630680184814
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate option to fill in the blank.
Was Sudhir there the launch of the new pavilion?

Ans o A for
< B. from
25 C.on
2 D. by

Question ID : 630680184822
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate meaning of the given proverb.
Blood is thicker than water

Ans X A. Water is chemically the thinnest liquid
Z5 B. Early friendships remain the best
" C. Family relationships are the strongest

< D. Clean a bleeding wound with water

Question ID : 630680184774
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

About 76,000 years ago, a massive Toba-volcanic eruption took place in Indonesia in which
sulfuric acid rained over the earth and about 3000 kilometres of land was covered with
magma. Indian land was also showered by volcanic ash, which remains deposited on the
ground even today.

Contrary to all prior logics, in January 2018, stone tools were found in southern and northern
parts of India, both below and above the ash. These tools were quite like the ones which
humans created in Africa. Thus, it became clear that homo sapiens lived on Indian land even
before that volcanic eruption. The findings also gave an idea that the super-eruption led to a
massive environmental destruction and many people would have lost their lives.

The team comprising of scientists from India and Germany discovered fossil of an extinct
marine reptile in the Kutch desert, Gujarat, in October 2017. They identified the specimen with
Ophthalmosauridae, a family of ichthyosaurs which lived in the oceans between 165 and 90
million years ago. The fossil was found inside rocks from the Mesozoic Era, marking a
Jurassic record in India and proving some sort of biological connectivity of India with the
other continents of Jurassic world. It gives us a nudge that a lot more could be discovered
here from that thrilling era.

SubQuestion No : 21
Q.21 Which of the following is NOT true according to the passage?
Ans 4 A. Any volcanic eruption covers only several kilometres of land in the vicinity.
< B. Stone tools provide proof of human inhabitation much before the volcanic movement
began.

< C. Slight indications of archaeological evidence spark interest in excavation sites across
continents.

< D. Fossils are found after excavation in ancient debris or rocks in areas identified by
scientists.

Question ID : 630680184862
Status : Not Answered
Chosen Option : --

Comprehension:
Read the given passage and answer the questions that follow.

About 76,000 years ago, a massive Toba-volcanic eruption took place in Indonesia in which
sulfuric acid rained over the earth and about 3000 kilometres of land was covered with
magma. Indian land was also showered by volcanic ash, which remains deposited on the
ground even today.

Contrary to all prior logics, in January 2018, stone tools were found in southern and northern
parts of India, both below and above the ash. These tools were quite like the ones which
humans created in Africa. Thus, it became clear that homo sapiens lived on Indian land even
before that volcanic eruption. The findings also gave an idea that the super-eruption led to a
massive environmental destruction and many people would have lost their lives.

The team comprising of scientists from India and Germany discovered fossil of an extinct
marine reptile in the Kutch desert, Gujarat, in October 2017. They identified the specimen with
Ophthalmosauridae, a family of ichthyosaurs which lived in the oceans between 165 and 90
million years ago. The fossil was found inside rocks from the Mesozoic Era, marking a
Jurassic record in India and proving some sort of biological connectivity of India with the
other continents of Jurassic world. It gives us a nudge that a lot more could be discovered
here from that thrilling era.

SubQuestion No : 22
Q.22 The volcanic eruption took place:
Ans X A 165 million years ago

#< B. 3 million years ago
" C. 76 million years ago
< D. 90 million years ago

Question ID : 630680184860
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

About 76,000 years ago, a massive Toba-volcanic eruption took place in Indonesia in which
sulfuric acid rained over the earth and about 3000 kilometres of land was covered with
magma. Indian land was also showered by volcanic ash, which remains deposited on the
ground even today.

Contrary to all prior logics, in January 2018, stone tools were found in southern and northern
parts of India, both below and above the ash. These tools were quite like the ones which
humans created in Africa. Thus, it became clear that homo sapiens lived on Indian land even
before that volcanic eruption. The findings also gave an idea that the super-eruption led to a
massive environmental destruction and many people would have lost their lives.

The team comprising of scientists from India and Germany discovered fossil of an extinct
marine reptile in the Kutch desert, Gujarat, in October 2017. They identified the specimen with
Ophthalmosauridae, a family of ichthyosaurs which lived in the oceans between 165 and 90
million years ago. The fossil was found inside rocks from the Mesozoic Era, marking a
Jurassic record in India and proving some sort of biological connectivity of India with the
other continents of Jurassic world. It gives us a nudge that a lot more could be discovered
here from that thrilling era.

SubQuestion No : 23
Q.23 The central theme of the passage is:

Ans 4 A. the discovery of a remains of an extinct marine reptile
< B. the volcanic ash that covered parts of India
2 C. the causes of a volcanic eruption in Indonesia

#< D. the connections between India and Africa

Question ID : 630680184859
Status : Not Answered
Chosen Option : --

Comprehension:
Read the given passage and answer the questions that follow.

About 76,000 years ago, a massive Toba-volcanic eruption took place in Indonesia in which
sulfuric acid rained over the earth and about 3000 kilometres of land was covered with
magma. Indian land was also showered by volcanic ash, which remains deposited on the
ground even today.

Contrary to all prior logics, in January 2018, stone tools were found in southern and northern
parts of India, both below and above the ash. These tools were quite like the ones which
humans created in Africa. Thus, it became clear that homo sapiens lived on Indian land even
before that volcanic eruption. The findings also gave an idea that the super-eruption led to a
massive environmental destruction and many people would have lost their lives.

The team comprising of scientists from India and Germany discovered fossil of an extinct
marine reptile in the Kutch desert, Gujarat, in October 2017. They identified the specimen with
Ophthalmosauridae, a family of ichthyosaurs which lived in the oceans between 165 and 90
million years ago. The fossil was found inside rocks from the Mesozoic Era, marking a
Jurassic record in India and proving some sort of biological connectivity of India with the
other continents of Jurassic world. It gives us a nudge that a lot more could be discovered
here from that thrilling era.

SubQuestion No : 24
Q.24 The word ‘extinct’ as used in the passage CANNOT be replaced by the word:
Ans X A. defunct

4 B. redundant
< C.vanished

#5 D. non-existent

Question ID : 630680184863
Status : Not Answered
Chosen Option : --




Q.25
Ans

Comprehension:
Read the given passage and answer the questions that follow.

About 76,000 years ago, a massive Toba-volcanic eruption took place in Indonesia in which
sulfuric acid rained over the earth and about 3000 kilometres of land was covered with
magma. Indian land was also showered by volcanic ash, which remains deposited on the
ground even today.

Contrary to all prior logics, in January 2018, stone tools were found in southern and northern
parts of India, both below and above the ash. These tools were quite like the ones which
humans created in Africa. Thus, it became clear that homo sapiens lived on Indian land even
before that volcanic eruption. The findings also gave an idea that the super-eruption led to a
massive environmental destruction and many people would have lost their lives.

The team comprising of scientists from India and Germany discovered fossil of an extinct
marine reptile in the Kutch desert, Gujarat, in October 2017. They identified the specimen with
Ophthalmosauridae, a family of ichthyosaurs which lived in the oceans between 165 and 90
million years ago. The fossil was found inside rocks from the Mesozoic Era, marking a
Jurassic record in India and proving some sort of biological connectivity of India with the
other continents of Jurassic world. It gives us a nudge that a lot more could be discovered
here from that thrilling era.

SubQuestion No : 25
Which of the following is the most appropriate summary of the passage?

«" A. A team of scientists made unusual revelations about a sulfuric ash covering parts of
India. Stone tools were found above and below the ash giving indications of life resembling
that in Africa. Further, they also found the fossil of an ichthyosaur, probably of the Jurassic
period.

< B. A team comprising scientists from India and Germany discovered the fossil of an
extinct marine reptile in the Kutch desert, Gujarat, in October 2017. They identified the
specimen as an ichthyosaur.

25 C. Afossil was found under the volcanic ash that was dispersed over southern and

northern parts of India. Many lives were lost in the volcanic super-eruption which led to a
massive environmental destruction.

25 D. Many fossils were found under the volcanic ash that was dispersed over southern
and northern parts of India. The eruption had caused massive environmental destruction but

scientists were excited by the discovery of the extinct marine reptile in the Kutch desert,
Gujarat.

Question ID : 630680184861

Status : Not Answered

Chosen Option : --

Section : General Aptitude

Q.1
Ans

Rd FAA R af 2022 F g @ gunfaa fomar mami
o A ISR IEIE Wl 3T [REHR

X B. 3fT qRERR

< C. Glvmemi qReenr

2< D. IER T UIeHTE [REhR

Question ID : 630680182865

Status : Answered

Chosen Option : A




Q.2 1919 # 3ifwil gRT uTRa Aete Gae hl, AgTem Mt gRT_____ RN et 147 AT
Ans X A 3fur

«” B. T

X cwd

25 D. g

Question ID : 630680182872
Status : Answered
Chosen Option: B

Q.3 fay da & orga™I & 98 71 giar & ok, 2020 3R 2040 & =, yRa & ay &t ey areft
ST | 134.6 fafeaa & gfg s fir swfig 81

Ans X A.18T60
& B.15959
X C.25@75
X D.213@65

Question ID : 630680182854
Status : Answered
Chosen Option: B

Q.4 REN21 Ffieufia 2022 dffe feafa Rulé (REN21 Renewables 2022 Global Status Report ) &
STTHR 3187 ol chl RITFU &THAT & WA T ®AT fay & 8l

Ans X A.TH
" B.Tam
< C.ugaT
2 D. dr =

Question ID : 630680182920
Status : Answered
Chosen Option : B

Q.5 fA=fafaa d | wiF-w yefra wiftrt 1 g g 9 78 87
Ans o A TRGR R foIQ 7T dhot UR TSI T

25 B. IUR 3R 37 gamRat

#< C. 0Tl &t agett

Z< D. 1= Ui, g ®u & PSUT faffer @

Question ID : 630680182895
Status : Answered
Chosen Option: A




Q.6 donl 3 Heier & RDR ot guf w0 @am 82
Ans X A.Revenue Deposit Ratio (3= fZuifie 3rat)

7< B. Reserve Development Ratio (RsTd Saerade )
«" C. Reserve Deposit Ratio (Rerd fauifore Am)
#< D. Revenue Development Ratio (3a=g 2acTusic )

Question ID : 630680182900
Status : Answered
Chosen Option: B

Q.7 ol iR e & g 'gmrfSies unfa Gaenie' & R & = d aren fhg g 2e Rsdwor 9 gar
gl g fF yRa & 313 St &, 20-24 adf fr_______ @ rfdep afgemait = faarg 18 adf, st fas 221

# faarg & foag FufRa fafdes amg &, i omg @ uget g€ o
Ans X A 25%

X B.15%
X C.30%
& D.20%

Question ID : 630680177496
Status : Not Answered
Chosen Option : --

Q.8 WRdg Rerd d o1 F=afafaa & 9 &= a1 wrf 98 &2
Ans X A g srfrawn & faesft geT YR o1 WRere a8l
« B. U8 3T AMRKAT hl U] WS el &
25 C. 7g fafera gt & &1 <l HqaT Smgfd et FRif3a aear &1
75 D. U5 TRAR & iR &h =0 H 1 ohidl g

Question ID : 630680182903
Status : Answered
Chosen Option: B

Q.9 frafafaad & fra srgede & ==t & g 8, 16 farelt oft =afes w1 fafer grer wnftra oferar &

SifafR<h 3T Sfia= ar aafwra w@dsrar @ dfaa 7 forar i1 gepar &2

Ans X A 3w 20
o B. 3¢ 21
X C. 3rgee 18
< D. 38 22

Question ID : 630680179727
Status : Answered
Chosen Option: B




Q.10 wAFRat & Hay & Frafaf@a § @ o= a1/ Fu= 98l/ea 2/82

i. 9t F2twhi Toorht g €, Afeh Tt Tought A TE g 1
ii. wAFTRTN & &, i a1 TR FHel G g S1YER AT ged g 8l

Ans X A faened i ofR faee ii gl Tora &1
o B. e i ok frere i 1 Tt €1
X C. &aet fheq i T8 1
X D. Shad ey | g &1

Question ID : 630680182924
Status : Answered
Chosen Option: B

Q.11 ¥Rd SISl siigte foha o F forar mar ur?
Ans X A.1940

< B.1941
o C.1942
< D.1943

Question ID : 630680182876
Status : Answered
Chosen Option: C

Q.12 2022 # ‘faerfa g & g YETER Jh ¥R (Corruption-free India for a Developed Nation)’
Y ofie & TTY Techdl TRl HATE chel AT TT AUT?

Ans X A 10 feEer § 16 iR ae
" B. 31 3R ¥ 6 7dsR dh
#< C. 10 3[R & 16 sk doh
2< D. 30 TR & 6 RTsR dh

Question ID : 630680177440
Status : Answered
Chosen Option : A

Q.13 fA=fafE@a 9 & w9 a3 gt/ 8/8?

iR O i & et Iumin geft i 1T s A & g ok ar=E: ues wifla srfsa
&t yrwera | farar sirar g1

ii.gwd figwari et wfia &1 gor srtu=Res geER w4 & ofik 9T gt Srar & o6 sweht
LRI HAY & e arforg 3reht Mg & AR & g3 o

Ans o A Shad faehed ii T8l 81
25 B. faeneq i R fashe ii gl It &1
< C. %o fepe | g B
25 D. facren i ofR farened i &4 et €1

Question ID : 630680182891
Status : Answered
Chosen Option: C




Q.14 Wiy wifeudh wrafaa & 169 smafde sm oo Tderor & sfics! & udr o« g fh, Jars-Rdr
2022 # 21t &=t Y (15 a9 SR ITR 4fdes oy ) ARG Afgemai & RIS &R gear
—_#@md

Ans X A 10.4%
X B.8.4%
X C.11.4%
o D.9.4%

Question ID : 630680182858
Status : Not Answered
Chosen Option : --

Q.15 gAY & SMeRfees Fua & arg 1556 £, # srerer & Rigra ©R d & Twy ITeRT TRETH &I UT?
Ans X A H3rso™ @ (Muazzam Khan)

2 B. 31ege 3@ WH-T-@HT (Abdul Rahim Khan-I-Khana)
#5 C. A< @ (Zaman Khan)

«" D. SR\ @ (Bairam Khan)

Question ID : 630680177451
Status : Answered
Chosen Option: D

Q.16 E=WI Jud & e MR & Tay & F=afaf@a & @ o9 a1 sy 981 78 82

Ans X A. fa=ITel SIFRTR, Geh TRTUT A Ueh d<1 STAdTehR ehl off, STt IRl okt § Ueh ierar & feodt g5 ot
" B. dii @R FR &, o4 & 0 J Uep 21 it Tl
25 C. 7Tg g1 & for ag foreh gepr & faiw srmm @ Twaifda & & forg am

< D. TR 3R &f&or & Ehl qeh ST arelt & Tifesar off, Eht ol 3Tk fhaR WR §¢ amen? ofiR S &
TR <hT IUTNTT eheh STelRIE] ST 7T AT|

Question ID : 630680182881
Status : Answered
Chosen Option : B

Q.17 S+ Uenle S & aR | ffaf@d & @ o a1 wu= a8t 18l 87
Ans X A 3= factelt ofk SeAUSRRT # 1= 2iter & forg ST STa g1
X B. 3517 fega amr & ardig yerma & forg yes Fem wfaanfea forar e
¥ C. S Ui ST b ShE ST Hifaes =T 91
2$ D. I A W St 7R S Y TS T dhgetrelt 21

Question ID : 630680182933
Status : Answered
Chosen Option : A




Q.18 ET HUh T TR, FHYUF hg, MR & fove wrT H = 82
Ans o A TS Rl

/< B. ®Afcw

X C.afeaTg

25 D. arigr meer

Question ID : 630680179680
Status : Answered
Chosen Option : A

Q.19 TEETRYUT o & Heie A A=faf@a # 9 &= a1 = 9@t =81 82
Ans X A gl & SR I Gt aEgC et & hRUT TEATRNUT ST Bl ST el &
2< B. Toarenyur, gedft & IRt 7R AT SfR HfAm Iuugl ol i, gedt i v ofk g o IRt ok &
Tgl <t 7f, ofik Afga ®u 9, gedt v R aret fiel i nfa it g e=ar 1
o C. ROar, smeprrrimeit ofk Halfh-a et & e ofR faer S siglie &t & Gmm &t gesit
ﬁmaﬁraﬁéﬂiﬁaﬂﬁél
25 D. TSarehyur g, fohal at aegat o gegdTHl o STER UR 3 o o UREUR STThYUT T el &1 &

Question ID : 630680182927
Status : Answered
Chosen Option: C

Q.20 fa=faf@a & @ i a1 T Aifeied fARRY o 8T & & fw Re S &R gerar &2
Ans X A. IUNRHT AR

7% B. S siererd
o C. gai=g < SR Sea =rarerd

2< D. Srefiaer =mrera

Question ID : 630680182946
Status : Answered
Chosen Option: C

Q.21 9 @R} &l SR ARG FA A fFar ST g, aigd S U A ST San gl
Ans X A ORI gof

« B. S1aRig! aof

2< C. Tt gof

2< D. 3R} aof

Question ID : 630680179684
Status : Answered
Chosen Option : B




Q.22 2022 # uy 9 fAsn &t F=fafEa & @ e R/ siftemgi @ awnfaa frar mar?
Ans X A g (SASTRA) IHISH JRERR

2< B. TS (SASTRA) Hh. TF. 3TR. 3@ REHR

2 C. wufsridt sifdemg

o D. 37T T [REHR

Question ID : 630680182847
Status : Not Answered
Chosen Option : --

Q.23 3iisr wer # ufdig sifAar (AR sngee) TAE IWRE (NTR) ZRT A7 32 Urél (TDP) i
AT foh aef <Y 71 of1?

Ans X A 1984
2 B. 1981
2< C.1983
& D.1982

Question ID : 630680177520
Status : Not Answered
Chosen Option : --

Q.24 ToRE IRISAF SN A _____ Hid a1 A1 & UTq &1t &1
Ans X A TegHifes

X B.5E

25 C. e

o D. @

Question ID : 630680182909
Status : Answered
Chosen Option: B

Q.25 gdf Qe umr it Iutwrerfsdia gff Sie arT et srar 8, st uradidi sra | afifat & wdat &
R ______ & SR Fgel 81

Ans o A TA°N
& B.12°N
/< C.18°N
X D.16°N

Question ID : 630680182913
Status : Not Answered
Chosen Option : --

Section : General Intelligence




Q.1 fw ow sl # ¥ 3H AT &1 =04 Bf, A Heaiaiad FHE0 # usEee Ree (7) @ ulaenig
& Fwdr B

167.89 + 41.79 x 78.87 — 127.17 + 43.68 = 7

Ans XA 323
X B 342
«+C 233
XD 332

Question ID : 630680177654
Status : Answered
Chosen Option: C

Q2 i Rw i HER-3gHA ¥ U A oeg a & O, 3WH S0 3R FH 9F @ E?

m
m

Question ID : 630680176447
Status : Answered
Chosen Option: C

Q.3 100 s # v 9T F, Ree FER F THS oo B AT AT @ T e AT T w2
FF & FAA A SR F 3041 §, A TS H TAF A€ ST F 2097 §1 ¥ IR T F A=
e feandt =2 2

Ans XA 49
#< B 48
v ¢ 50
X D. 51

Question ID : 630680182744
Status : Answered
Chosen Option : A

Q4 o S BFF A7 F @S T A, B, C, D, E 3t F &, v& o A9 & 9= 50% &g #7 37
I R @ T A W&, dfa s Al g e s s F A

A D% 8w a¢ 93t # #a1 €1 C, B & 2 ¥ g9l ¥0W W #&T 1 D, F & &% =1¢ 5w & a7 ¢

EAFITA g A R 4T 81 F, B F &% aW 751 & #o7 &1 C ¥ &% aw =59 & =7 dar
Ans 5 A B

< B A

#C E

X0 D

Question ID : 630680182737
Status : Answered
Chosen Option: C




Q.5 Ry e Rwedt # & 3@ HEW F TS FY HA REAET @ # woT FEa (7) & slenia wem
0,8, 8 0, WK ?
Ans X A G
B A
xc Z
X0 H

Question ID : 630680182760
Status : Answered
Chosen Option: B

Q.6 RT T MW F AAES HeATT Frew HT A BT T T2t F 3w AT soEr-seEr oS F &
TS FEAW UF T H Soleil=ir AHET & (98 975 STl OX7 &7 TE&aT #1200 £

&

frmreT

T

v I & e dwE & sowiEE @ 2
Ans XA 95

v 8 59

xc 70

XD 93

Question ID : 630680182753
Status : Answered
Chosen Option: B

Q7 afE <« FmHT -, = T AT+, + T AT+ 3T - F AT < =R O S g a@
&

Ans A 95 +19 + 65 =16 - 18 = 218
X B 37x46 £+46 +17 -48 =201

KcC 314+ 156+45=137x45- 31
/<D g5+45 +17 = 76=12 - 34

Question ID : 630680177659
Status : Answered
Chosen Option : A




Q8 P, QRS T, U VHYIEHF F UF AoaF F -3 &t F TF TR 3 &, 37 &

AT & IF gt 581 g & THEN & FATT g ¢l

P & WIaTeh AN F 1 Q § TE HI & SOiFad F FRTeHR 1 R F A YFAN FOAE
BV F WETER S F e § 8% g ¥ U AR R ¥ W F 19 FEe o ated &

TR A §1 S T R WA F R R g B
Ans o U CIEY

¢ B HITAAR

XK c. PshaX

X 0. orfar

Question ID : 630680182748
Status : Answered
Chosen Option: B

Q9 =w sER-waE RE 7w § Ted @ 39 R veR @ weAe €t v 3 ¥ 59 e 3R

TIE F AT F
ans X A BEHK
X 8 MPSV
« ¢ QTAZ
#< 0. WZCF

Question ID : 630680176451
Status : Answered
Chosen Option: C




QJOII%
‘A & B & 3T & 5 ‘A, B Fr AT Fr AT
‘A#B F HTE A BH s Y
‘ANB @ aT R A BF Rar & ¥
‘A@ B @ 3 ¥ F A B =T ¥
‘A % B @ 3 ¥ 5 A B #rommar ¥ s

‘A =B # FTB, AF FH T,

ar BT 9T e0=eh H Z & M ¥ 41 §9Y 87
Z"R#S@T=M
Ans WAAE:Hg

X B FET-ZA-a
xc 99

X 0. o

Question ID : 630680182780
Status : Answered
Chosen Option : A

Q.11 ferdi A& e T #, SERIAL @l IVHRZO @ &0 3 Hhead 6a1 SaT & DETTOL &I 3T wrar 3
e meas fea smoo?

Ans XA GVWGMO
« B GVWGLO
X C GVUGLO
X D GVWGLM

Question ID : 630680177598
Status : Answered
Chosen Option: B




Q.12 fzT v wedt & ¥ 3@ T TS FY S FAEEET 4@ # g fEa (7) # afawnita W
T

60, 81, 123, 186, ?
Ans X A 265

X B 268

v C 270

XD 272

Question ID : 630680182819
Status : Answered
Chosen Option: C

Q13 3= zdor B MN R T&T ST ¥, @t & o sy o gdor F i v ofafe e wY)
M

PF832N

RIS L
“N2€879
“USEBF]
~U2€8F9

Question ID : 630680176464
Status : Answered
Chosen Option : A

Q.14 & =% FEar-ve ST F TeET of AR A T 7w 9o F7 I=w &
@) %251 @&2540+«@E3184% @2&%3 %4 (34

IR 4T § TH fradr et § RS 8 9ge U v £ AR O g F U mwm s 7
Ans a3

X8 1

xc 4

XD. 2

Question ID : 630680182768
Status : Answered
Chosen Option : A




Q.15 Rw 71w Reredt § @ 36 P & T0 HY S A & TE @ # wea FEaA (?) F dRewiE &=

Ans

TR ¥

ISP A »
NIZe 2N

& B.

D
D

Question ID : 630680182803
Status : Answered
Chosen Option: B

Q.16 &re, 3r=T 7 TaT &1 e, =T @ 927 ¥ 9, &ow $r ama b e, we @ = 9T &1 gh,

Ans

3 B T ¥ B @ g @ F w32
XA ofe T AT (F4)

XB AT

X c §g

v 0. ofd #r Fg (713

Question ID : 630680182785
Status : Answered
Chosen Option: D




Q.17 %qrr%ﬁwﬁﬁﬂmmﬂmﬂﬁva}ﬁmﬁﬁﬁ@mﬁmaﬁ?ﬂ(?)aﬁgﬁwﬁﬁw
Tedr 2
27, 29, 33, 39, 47, ?

Ans oA B0
« B 57
X C 48
XD 49

Question ID : 630680176471
Status : Answered
Chosen Option: B

Q.18 wfam & a9y, = B 3eaw $ 3N 3w &, wEfre oo uw e 9y W @t @er ¢ ot
20 km # gl 77 T &, O A0 g5 & 3R 4 km 5F TS IO §, AR S O 98 AR s
%3?1?20kmmmﬁmm%&ﬁrﬁwmﬁa@mw%aﬁr%ﬁﬁqu@ﬁﬁﬁve
km =% wEfEe =T &1 SRfEr § saer W e g 2

Ans XA 6 km
< B 50 km
« C 10 km

XD 4 km

Question ID : 630680182777
Status : Answered
Chosen Option: C

Q19 A B oY adTCHa I E DA TR BB R C DA I e A & o 71
ot F ¥ i wEE o 87

Ans XA E
XB C
xe A
v0 D

Question ID : 630680182755
Status : Answered
Chosen Option: D




Q.20 Ry oir Rwedt # & 3§ pia & 909 ®, S HAeATHAT AW F UMaTEE Few (7) @ ulawuafe

F WHT E
! i ? g 80
wa Dk

Ans O

x| ve

&>

AN

xe | W

o=

AN

xc |y

O

N

0 | Y2

i

Question ID : 630680177629

Status : Answered

Chosen Option: D




¥ Prafafe e & ot AT vl & Tmm &Y

PROWESS
~~ 2edMORS9

<= 2eEWORd
~- 6eEMORY

-+ ¢edWOA9

Ans

Question ID : 630680177636
Status : Answered
Chosen Option: D

Q22 gr smr-grA ¥ faw o & e & 99 Gl v @ v @a e £ N e s € 3W 3eR-giE
T AT B

Ans - XA LM - IJ - GH
~<8 CD - ZA - XY
« ¢ 8T - UV - XY
XD AB - XY - VW

Question ID : 630680182796
Status : Answered
Chosen Option: C

Q.23 @ @@ E, D, C, B, A, Z 3R Y, & @l feq # 3eew Fr ¥R AFEw g 35 §1 A F gt A
Fodada g s I EdRDFduFmzimticiRBF I sma YSTEIC A F
&F o g F 91 §) 99T F 0 o W AT d9 2

Ans ?(A- Y
v B8 B
<c Z

XograrEar D

Question ID : 630680182743
Status : Answered
Chosen Option: B




Q.24 g ov e & 0 Baet St ¥ e 8% 2w v 3w § ik 8% O v we 7
KL@G5B4+GH123+K22-G5KT@ X?

Ans  oC A BIry
aic)
XC.aﬁ-

XD TH

Question ID : 630680176423
Status : Answered
Chosen Option: B

Q.25 Fwmst Av T F TE GHE F A G Ao AT 3EE A% q A o F AN 3R g
T ST T Fead AT AT g1 BE 7C e HR wd & wewms w5 H# FREa wa w1 osew
Zl

FEASSE (3|2 @9 [# |+ |7 |+|%|8
R FT L|PA

ic

(i) T "Eer TR UH WO ¢ AN 30w 3EuE ve g § @ =7 @ (vEw d Hfaw ammah #
Tt @ ATE # sew famm Sreem

(i) T7E 9ger =49 v fww @ ¢ 3T 3w smoe v 5/ g € O 9ge it sifew ammet o
$ ¥ w7 & Feag B e

frm=fafta aag + v w1 < g
%2@# 372

Ans X A LDAPM
~ 8. MDAPL
+ ¢ LPADM
# 0. MPADL

Question ID : 630680182772
Status : Answered
Chosen Option: D

Section : Quantitative Aptitude

Q1 vs wa B & oW Fo @9 AT @57 4 3O 25% U wafad A F &9, OV 9 @« F ¥ 40%
wFT B 1 39 iR 3WF 99 45 d a9 S 9@, 30 35% Tal A & 99, 80 Tat B # aw ik
8% T 15% FA a1 G F T Rkar & 9w F e &9 Al Fae 97

Ans X A 280
< B 270
X c 240

« D. 260

Question ID : 630680184630
Status : Answered
Chosen Option: D




Q.2 # € T & sremas F1 3T AR RU 0 9o @ 3ca7 &1 arfeer st arenfiw it seeaw
TrenfeE T 9T e TR A RE @ @ §)
EL wafis | #Aeafds | F=aax
AT THE
2005 |42,137 |8,820 65,303
2006 53,568 | 10,285 71,602
2007 58,770 16,437 73,667
2008 56,872 15,475 71,668
2009 66,213 17,500 78,697
2010 68,718 |20,177 82,175
2005 ¥ 2010 7% eaffeT & ¥ &9 @ w9 798 &7 Bew & afa 2
Al
" VA FIA ITIaT AEATHE
X & gryffer HT Areafds
A C Faer gratHE
X0 gryffes T ==y ArTfas
Question ID : 630680184673
Status : Answered
Chosen Option : A
Q3 P& Q¥ 125% g R UF WF WL A F 30FT qrF, I0F 90T To4 T 60% HOw
THE Q & 2180 & M FAMT Q TFW & T AN T (2 A) A HAT
Ans X A 100
« B 90
xc 110
X D. 85
Question ID : 630680184639
Status : Answered
Chosen Option: B
Q.4 frzrwwm & 5 V19 = 4.35 3l V100 = 13.78, I VIO +1000 +/0.010 & ART & gRM?
Ans

X< A 46.0186
+ B 450158
< C. 48.0542
<D 43.0142

Question ID : 630680184606
Status : Answered
Chosen Option: D




Q.5 e Rfire amaw FT ameT o 30 km/h F T F, TF [A@TE ST 40 km/h Fr o= ¥ 3T 9w aer 35
km/h Fr = & T Fror S &1 i e F e T A i

Ans XA 31.8 km/h
%8 38.2 km/h
« € 33.6 km/h
#D. 354 km/h

Question ID : 630680184617
Status : Answered
Chosen Option: C

Q6 2
3

22 2 wew aF IR wew o e & @9 R I 8

Ans 2

XA =
45

xe L
36

Question ID : 630680177951
Status : Answered
Chosen Option: C

E ———
Q.7 e = 250,000 # ok ases T HIT 220,000 F 39 8% F v v w@sfea wE sES a9e
10% % oY 9T 3T WEfrar &1 20% & @1 9w §=m Tae o ar g = 7

@A ?% AT

X8 1.8% gifer
xc 1.5% g

<D 20% wmH

Ans

Question ID : 630680184634
Status : Answered
Chosen Option : A




Q.8 =fy A B 3R C Rresw B 31 10 R F 70 3% wwa € A 3%em 37 I v 20 R £ ok

B 3% 30 AT & QU & THT §, A C 35w 37 FH F b G H [ FT F@epar 87

Ans o p 40 Ry
ve B0 e
xc 30 &=
X0 50 fae

Question ID : 630680184667
Status : Answered
Chosen Option: B

Q9 wr dor F o wer ww ¥ T O e w E afy 4 F F v o Fur Ceer A e de
1 FEAr AT AT F= P T FOAGTT 10 3 @ A A d F F I Aoy F T I E
ar o FA S FEar A 99 FE HT FEA 5 3 3 4 @ e 8 3w # e Je o E

Ans oA 5
+B B
xc 7
XD 8

Question ID : 630680184681
Status : Not Answered
Chosen Option : --

Q.10 g witam F A #R B & i1 3it & 9 F1 379 5 ¢ 4 1 3Ten ofiew F, Rroer afer &
e § A 5 3% Ao Few § A B # 15 3w wfaw e & o Ao sge 16 ¢ 15 @ e

8 A ¥ 77 3 A= AT
Ans XA B5

X8 70

xc 60

& D 75

Question ID : 630680179581
Status : Answered
Chosen Option: D

Q.11 &z o 81° 1 HoT q== arer =9 H FOE 99 cm 1 Ied F AR (em? H) T E? (1 =3.14 )

Ans XA 325
X 8. 330
xc 321
D 314

Question ID : 630680184692
Status : Not Answered
Chosen Option : --




Q12 vx zofdg 3 v T & 3x a6t F v v BfYas ofFr o Gl G, G g 2 a6t F R
12.5% == Twgfy =o= 3 9w wom ¥ R Efm offr o7 20% 1 R e e S g
afy 8% g wra 5 T Eemer s £3,809 ¥, o 3°% earw ey fr o uf¥r wa fifsmm

Ans XA 27,328.10
B 37,523.95
xc 3742035
XD 37,248.25

Question ID : 630680184655
Status : Not Answered
Chosen Option : --

Q.13 famedt Ufd w7 40% =0T, 5% Wiy a9 H e & aF g6t & v e B smar § 3 9w ofdr &= 10%
S a¥ 1 g & o a6t & for fdy Ber S 7 i 3 a9 F 39 # o g s B w A
71,280 9rea g §, & e A 9 o afy w32

Ans A 78,000
< B. 27,500
X c 26,750

« 0. 36,000

Question ID : 630680184651
Status : Answered
Chosen Option : A

Q.14 i st &, Rt &8 # waer 40 R 3k 56 B 9@ = wEA ) AR F alead @ I S €
T FHie TgS FH YT A 8, o F e R F 9w gem?

Ans

X A 411
6
X B. 382
5
wo 462
7

X 362
9

Question ID : 630680179606
Status : Answered
Chosen Option: C




Ans

& em? F g i
<A 188
+ 8 108
xc 172
XD 154

Q15 Fhr wrefaarg foe & MR X @ieT T ofnd @ (altitude) 12 em 3R TRATT 48 cm ¥ B

Question ID : 630680179630
Status : Not Answered
Chosen Option : --

Ans

a¥ 2018 HR 2020 F =T vk Su=r & =T
eT-31er §E % 49 & G (e 4% A)

48.17

&

E

E 401 37.76
: 1 20.14
4@ 20.1.
&
&

20 4
149 1221

10.19

A B g
ey izw

H2018 W 2020

Q.16 we &7t # A, B, C, D 3R E & o= 3e@T-31609T §15 396y U §1 ¥ 2018 3w 2020 % g
=7 o FiE B R (aw i #) SeRe Sy & R g

2020 & w15 A e & fRfr 2020 & s B 9 f B & Fraw sl aftw o8 (Beeaw s

% i)
A 28%
X & 35%
X c. 32%
X 0. 23%

Question ID : 630680184675
Status : Answered
Chosen Option : A

Ans

31 2t TEH & 4 e F g
XA 36
X8 48
¥ C 12
XD 42

Q.17 Zr gwmmstt & 77T (HCF) 12 ¥ alt s9er o789 (LCM) 144 ¥ TR s demmst F & o 48 & &Y

Question ID : 630680184612
Status : Answered
Chosen Option: C




Q.18 fmdt s &1 wwrs o =isE, wA: (x+3y) SHE T (9x-y) S §1 5@ HEA W afEw, R o
F IRAT F e §| T F ST6T AT HAT F &ABel F & Il A Hirew|

Ans XA Bx2=Txy +4y?

B 16x%— 16xy+4y?
XKc 21x*+17xy —4y*
XD 25x* +16xy +15y*

Question ID : 630680179617
Status : Answered
Chosen Option: B

Q.19 w7 71w e & ST Fr Fwa v o v el & I8 S FEw FA 4 0 7 F HgIA F §) e
AT eiteF & ST Fr TEAT, FENT AC A F IS N HEAT ¥ 12.5% A g, A F w0 aw A7 F ust
& FEA F 33.33% HUF g FE 0 IF Fr FEw A T A0 GF 1 TG A FFIS A ST

Ans XA 4 -1
xB 2
xXc1:3
#D2:3

Question ID : 630680184647
Status : Not Answered
Chosen Option : --

=

Q20 v 7w Tger ww-AtE gf 40 km/h FT AT F FT FE L, AT g F A X 60 kmvh Fr T F
HY 9w gt x km/h Fr T F T o ) HR s oA B @ s F 14 howea #) 3l sm H

3ifed =mer 452 kmph &, & x &1 A A B

Ans A 40
X5 45
X c 50
X 0. 55

Question ID : 630680184659
Status : Not Answered
Chosen Option : --

Q21 ofy srares, o5, Heades AR AR vk B ABC & @ €, ol afy sf=m AB #r wiars 5v3
cm &, @ o A & giaT T F oo i o = E2

Ans XA 5.2 em
<B 86 cm
x<C 6.4 cm
+ D 7.5 cm

Question ID : 630680184694
Status : Not Answered
Chosen Option : --




Q.22 v ameHr 5 kmih # G ¥ UF U T AT FaT 31 98 9 km/h o Trer ¥ wiEfEer g@nr aradr
FIAT E| AR i W ST seehr e wmer Fa 7 (3 g T 9% w6

Ans s A 6.43 km/h
X B 6.82km/h
X c. 6.54km/h
X 0. 6.84km/h

Question ID : 630680184623
Status : Answered
Chosen Option : A

Q.23 v e &7 9RETT 36 cm & R Bis #r sEfyser 5.5 cm &1 e # atawe F4m gem?

Ans

XA 72 em?
v E 99 em?

Question ID : 630680184684
Status : Not Answered
Chosen Option : --

Q.24 X 3w ¥ AW 500 m 3T 400 m Fr FEE F I T F, T AAC A2 O I W | 79 T TR
& feon & weh € o 398 OF EY B UK WA H 60 sec F WHT wOIT 3| w9 S fulw frar &
Ter &, A F UH-EEL F UN F T 20 sec F THT oA E AT &A1 H = FAT: (km/h H) A
FfT)

A xa 132 3% 66 km/h
¥ 5108 3R 54 km/h
% C. 128 3R 64 km/h
#0112 3T 56 km/h

Question ID : 630680184661
Status : Answered
Chosen Option: B

Q.25 vz =fm @ierd & v s 3 & a7 o, 3T 40% T FT ¥ A 30 I 34,200 ¥ 3%
U | Fae 39 & e o

Ans X A 28,000
v B8 27,000
xc 77,500
« 0. 26,000

Question ID : 630680184625
Status : Answered
Chosen Option: B






